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Chapter 12
Fiscal Policy 
I.
Components of Aggregate Demand

Fiscal policy is the use of government taxes and spending to alter macroeconomic outcomes.

Aggregate demand is the total quantity of output demanded at alternative price levels in a given time period, ceteris paribus.
Recessions occur when:

· The aggregate demand declines – and is negative for two consecutive quarters.  

· The AD remains below the economy’s capacity to produce or potential GDP.

The four major components of aggregate demand are 

· Consumption 

· Investment 

· Government spending 

· Net exports

Consumption

Consumption refers to all household expenditures on goods

Consumption function is:
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Where, Y = income, t = taxes, and τ = income transfers
Because of the proportion of consumption to AD (70 percent of AD), any change in consumer behavior will have an impact on employment and prices though the goods markets.
Investment

Investment refers to spending by business on new plant and equipment.  Investment function is:
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A decrease in investment reduces AD and reduces the jobs in the market though the goods markets.

Government Spending 

These are the goods and services purchased by the government.  Examples are:

· School

· Police 

· Armed forces 

· Highways, etc…

Government spending or purchases is denoted as
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, where the bar implies a constant amount.  Government spending does not include transfers to individuals or firms, because it is already accounted for in consumption.

Net Exports 

Net exports are exports minus imports.

The net export function can be expressed in two ways.

NX = Exports – imports, or
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Where,
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is foreign income, 
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is the real exchange rate, and 
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is the future real exchange rate

Another way of saying net exports is the net demand for domestic output.

· If net export is negative, we have a deficit 
· If net export is positive, we have a surplus 

Equilibrium 
Equilibrium is the combination of price level and real output tat is compatible with both aggregate demand and aggregate supply.

Inadequate Demand 

The function for GDP can be defined as
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.  AD may at disequilibrium, but it will be equal to the GDP (Y) consumed. Therefore, we can substitute Y for AD.  
Knowing that, AD includes four different types of spending:
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Inadequate demand is when we demand less that the L-R quantity demanded.  The LR quantity demanded is associated with how much we want to consume when we are at full unemployment GDP.
Excessive Demand (excess demand)

Excess demand is when the demand is greater that the L-R quantity demanded.

II.
Nature of the Fiscal Policy
The goal is to get the right amount of AD. However, Keynes concluded that it would be a miracle if C+I+G+NX would add up to exactly the right amount of AD.

The use of government spending and taxes to adjust the AD is the essence of fiscal policy.

III.
Fiscal Stimulus

GDP Gap is the difference between full employment output and the amount of output demanded at current price level

More Government Spending 
Fiscal Stimulus is a tax cut or increase in government spending intended to increase (shift) AD.

Government spending is a fiscal policy that is conducted when there is shortfall in AD.  An increase in government spending is a form of fiscal stimulus.  In addition, a decrease in taxes would have a similar effect.  Note that government spending would have a more direct effect than taxes, but they both shift the AD in the same direction.   
Multiplier Effect

“In economics, a multiplier is a factor of proportionality that measures how much an endogenous (independent) variable changes in response to a change in some exogenous (dependent) variable.” 

“The multiplier effect is the idea that an initial amount of spending (usually by the government) leads to increased consumption spending and so results in an increase in national income greater than the initial amount of spending. In other words, an initial change in AD causes a change in GDP for the economy that is a multiple of the initial change.”

Saving is income minus consumption: that part of disposable income not spent.

Marginal propensity to consume is the fraction of eco additional dollar of disposable income spent on consumption (MPC)

Marginal propensity to save is the fraction of each additional dollar of disposable income not spend on consumption: (1- MPC)

The fiscal stimulus to aggregate demand includes both the initial increase in government spending and all subsequent increases (multiplier effects) in consumer spending trigger by the government outlays.
Spending Cycle

Example of an increase in government spending for aerospace

· Cycle 1: government spends on missiles.
· Cycle 2: aerospace spend their higher income on ice cream.
· Cycle 3: the ice cream maker makes more money…

The demand stimulus initiated by increase government spending is a multiple of the initial expenditure.

Multiplier Formula 

The Multiplier is the multiple by which an initial change in aggregates spending will alter total expenditure after an infinite number of spending cycles.
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Every dollar of fiscal stimulus has a multiplied impact on aggregate demand.
Tax Cuts

A tax cut directly impacts the disposable income of the private sector.  Disposable income is the after-tax income of consumers. It is defined as:
Disposable income =
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Where, Y = income, t = taxes, and τ = income transfers
Taxes and consumption
A tax cut that increase disposable income stimulates consumer spending.  This uses the same logic as an increase in government spending.  The cumulative change in total spending will be:
Cumulative change in spending = multiplier × initial change in consumption

The cumulative increase in aggregate demand is a multiple of the initial tax cut.
Taxes and investment 

Change in the capital gains tax or corporate tax. A reduction in either capital gains taxes or corporate taxes changes the Marginal Productivity of Capital (MPK) by the users cost.

The desired capital stock is the one for which the after-tax MPKf equals the user cost, denoted:
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Inflation worries 
If you provide too many fiscal stimuli to the economy the economy will over heat and bring prices up. Hence, a large increase in fiscal stimulus has the propensity to produce inflation.
IV.
Fiscal Restraint
Fiscal restraints are tax hikes or spending cuts intended to reduce aggregate demand.

We want to reduce government spending or increase taxes to cool down an economy that is overheating.  In other words, when the economy is growing rapidly and prices are increasing at a fast rate, the government can increase taxes to reduce these effects. 
V. Policy Perspectives
Budget deficits are the amounts by which government expenditures exceed government revenues in a give time period.  This is denoted as:
Budget deficits = tax revenues – government spending

Where government spending > tax revenue

Budget surplus are the amounts by which government revenues exceed government expenditures in a give time period.  This is denoted as:

Budget surplus = tax revenues – government spending

Where government spending < tax revenue

The use of the budget to manage AD implies that the budget will often be unbalanced.  In Keynes’s view, an unbalanced budget is perfectly appropriate if macroeconomic conditions call for a deficit or a surplus.

This explanation is great when it is viewed as a household budget.  You save for a rainy day, and you use your saving on the rainy day.  The explanation would also apply if politicians understood economics, however most of them do not (or worse elect not to). In an ideal setting this concept would work as follows:

· In expansion, the government would reduce spending, increase taxes, save, and pay off debt (or a combination)

· In a contraction (recession), the government would increase spending, reduce taxes, and incur debt (or a combination). 

However, generally speaking in political terms:
· Democrats want to increase spending and they do not oppose tax decreases. 

· Republicans want to reduce taxes and they do not oppose increase in government spending. 

This brings the issue of national debt.

The National Debt is money, but must likely credit in the form of bonds, owed by any level of government.  In other words, the national debt is the accumulation deficit spending.   This does not include the expected cost of Medicare and Social Security.

· As of September 2010 the national debt is $13, 482,766,489,172.86.

· This means that the average American owes $43,611.87.
· The average taxpayer owes $89,885.11
�  (Wikipedia)


�  (Wikipedia)
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